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® Solving One-Step Linear Inequalities

Multiplying and Dividing by HABITS OF MIND
. * Reason abstractly and quantitatively.
Negatlve Numbers + Construct viable arguments and

5 - . critique the reasoning of others.
Finally, let’s investigate what happens when you

multiply or divide each side of an inequality by the
same negative number.

> Consider the inequality 3 < 6.
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o Multiply the values 3 and 6 by —% and plot the new values on the number line using
an X. Complete the statement using an inequality symbol.
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e Multiply the values 3 and 6 by -3 and plot the new values on the number line using
an O. Complete the statement using an inequality symbol.
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> Consider again the inequality 3 < 6.
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9 Divide the values 3 and 6 by -% and plot the new values on the number line using
an X. Complete the statement using an inequality symbol.
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3 o Divide the values 3 and 6 by -3 and plot the new values on the number line using
g an O. Complete the statement using an inequality symbol.
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o When you multiply the same negative number to each side of the inequality or fivide
the same negative number from each side of the inequality, what do you notic«

about the resulting inequality symbol?
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Lesson 3 » Be Greater Than 393



ACTIVITY 3 Continued

@ Solve each inequality and graph the solution set. Then, list three values from each
solution set, and verify that each value makes the original inequality true.
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